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Bl =%

THEX Sy« T - R - A5 B FTRBAL % B G = A & H R (GBS
RET
= 1 6, 021, 347
VH Bl 35 O LA
= 1 6, 021, 347
R R
= 1 6, 021, 347
b—7 47 a2=y b
= 1 1, 302, 940
AR R
= 1 4,718, 407
FlR e
= 1 6, 021, 347
RE UM
= 1 6, 021, 347
it L
= 1 11, 842, 428
VH B 5 5 e i %
= 1 137, 449
[pE
= 1 137, 449
VH B 5 5 v i 1%
= 1 137, 449
VH R SR R
= 1 6, 821, 679
RS AR A
= 1 5, 954, 040
RS R A i A
= 1 5, 880, 358
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THEX Sy« T - R - A5 B B B B G = A & H R (GBS
Hete
= 1 73, 682
ERELAR - BlE
= 1 867, 639
TR + Bl A
= 1 867, 639
el SR
= 1 3, 654, 774
BER B = 1
= 1 3,492, 244
BERR Bl i
= 1 3, 455, 403
Hete
= 1 36, 841
ERELAR - BlE
= 1 162, 530
EREL - Bl
= 1 162, 530
+ATE
= 1 1,116, 094
L IR T
= 1 515, 434
iR R
= 1 515, 434
+T
= 1 6, 434
LRSI I
= 1 6, 434
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THEX Sy« T - R - A5 B FTRBAL % B G = A & H R (GBS
FET
= 1 22, 241
MR
= 1 22, 241
ET
= 1 571, 985
BERZH Y L
= 1 571, 985
% T
= 1 112, 432
SR AR T (R R D)
= 1 112, 432
i TRy NAE 28. 5{Hm2
= 1 112, 432
B ST
= 1 2,539, 398
HimEpE (FE L)
= 1 2,539, 398
g
= 1 14, 381, 826
B E
= 1 3, 438, 180
et s
= 1 5,427, 782
P TR
= 1 23, 247, 788
BEAEsAE-¢
= 1 467,912
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Bl =%

THEX Sy« T - R - A5 B B B B G = A & H R (GBS

R 5]

= 1 29, 737, 047

— R R

= 1 6, 262, 953
T HAlik

= 1 36, 000, 000
THE B 2 %8

= 1 3, 600, 000
TG

= 1 39, 600, 000
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